1. The actual weight of a person is determined by his

fpdt safea o1 arafde YR SAS & §RT T a1 SIal o |

A. mass and height / ScUHIA 3R vﬁ'l'&;

B. mass and height / SdHTA 3R vﬁ'l'&‘

C. acceleration due to mass and gravity / ScdHIH 3R WGFUT >
DIRUT odUT

D. Mass / SdHIT




2. Which of the following is the equation of an ideal gas?
3eR-TT BT FHIH0 Faffea A G &1 3 2

A. T/PV=puR

B. P/VT=pupR

C. PV/T = (1/p)R

D. PV/T=pR




3. What do the abbreviations marked on an engineering drawing

mean?

fpat geitfafier e wR fafRa fére A &1 aaaa R gar @ 2
A. sectional recess / oA AT

B. screw runner / ¥p I}

C. surface relief / G¥hH el

D. spherical radius / T ¥&d fS$Tq




4. When the work done is maximum, then the angle between the

direction of force and the direction of displacement will be

oid forar T et 999 oIt ghm, 99 9« $ faum ok foumus Y
fe=n & & &1 P07 ---- R

A. 60°

B. 90°
C. 45°
D. 0°




5. What is the name of the part of programming code that is inserted

into a program to cause harm?

39 UHIRAT B1s & YNT &) |1 $gd 8, o afd ugam & fore feht
T A STAT SITdT 872

A. Virus diORy
B. Malware H&dUR
C. Viral 9IURd
D. Spam?a'q




6. Obtuse angle is
fermeIor BT 8

A. equal to 45° / 45° & SRIER
B. more than 90° / 90° ¥ 3(Y®
C. equal to 90° / 90° & SRTET
D. less than 90° / 90° ¥ &H




7. Three resistors 92, 92 and x are connected in parallel. The total
resistance of this parallel combination is 32. Find the unknown

resistance XQ.

| ufaRiyst 90, 90 3R 2 &I YHIR (e A SIST ST 81 39
YR SAIo &1 d UlaRIY 30 81 ST U1 x2 T B |

A. 120

B. 600
C. 300
D. 900




8.95°F=___ °C
45
25
15
35
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9. What is the name of a file that is stored and compressed into a

smaller file using a program?

39 BI5d &I T Had g, For8 THITH BT IUAHT I Dic PR Bt Th
wrsa A Fufed Nk Ihifeq frarsman g 2

A. SEO

B. SSL
C. zIP
D. SAAS




10. How much work will be done if a current of 10 C flows (charge)

at two points with a potential difference of 20 V?

20 V& TUTFAd 3iax ardl & faigsii uR 10 ¢ &1 yag (@reh) oM A fbam
BT NI ?

A. 200

B. 10)

c. 2J

D. 0.5




11. Two resistors 120 and 240 are connected in parallel. This
combination is connected in series with a 220 resistor and a 12 V

battery. How much current will be in the 240 resistor?

&l UfaRIYB 120 3MR 240 H AHIGR (WRA) H SIST ST 8 | §9 SIS
$I 220 UfRIYSP 3T 12 vV 93t & 1Y y@ar (@H¥ien | SisT S gl
242 18 feRIys # fhasit YRT () BRIt 2

A. (4/15) A

B. (6/15) A

C. (2/15)A

D. (8/15) A




12. An airplane flies at a speed of 1080 km/h. What is the distance
covered by an airplane in 5 s flight?

TS gdTs SIgTST 1080km/h B TIfd A ISdT 81 55 B IS H gaTs SIgTel
a1 BRI 99 ST 5 ?

A. 1350 m

B. 1500 m

C. 1625 m

D. 1250 m




13. _ A curve is a curve drawn through the free end of a thread
open to a circle or a polygon in such a way that the thread is always
constricted and tangential to the side of the circle or polygon.

__ 9% TP UgT 9 g, o foelt o= o fedt agyw & 9o gu fodl
U & Yod O § 59 USR Widl ordT g {5 A UM g9 I g4 B!
YOIl IR HPpfad ik TRREg Iga1 g ?
A. any sinusoidal Gﬁ'ﬁ' ifds g ('\‘IW\I'ESFD
B. alogarithm aﬁ's‘ YUl (ﬁﬁﬁﬂﬂﬁ)
C. Involute 3~ddferd (?z@?ﬂi)

D. any exponent (exponential) ﬂ'ﬂ'st Tdi (Qﬂ'\‘l'q.ﬁ? MWIA)




14. A block of copper weighing 50 g is heated from 20°C to 60°C.
How much heat will be transferred in the block (specific heat of
copper 386 Jkg-1K-1)?

50g HIR ITA did & fHl @Ws &1 20°C T 60°C I TH HIT 94T g | TS
H fha-! ST R Rl (did &1 g Y ST 386 JkgK?) ?

A. 572)

B. 772)
C. 320)J
D. 852)




15. A is a curve formed by a fixed point inside or outside the
circumference of a circle when the circle revolves around a straight
line.

PIg U U1 9 g, Sl fhdl ga &1 URfY & 3ige a1 J1ev fedl
frud fig gRT 99 9941 €, 19 99 U IR ¥@1 WR gHaT B

A. Hyperleptic 8ISUR SHG

B.
C. Fument fopu=
D. Trochoidiﬂ?ﬂg_e'{
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